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Understanding the special educational needs of the children is necessary, to
facilitate them, we are supposed to take appropriate measures to include the
CWSN in schools. So we created this document.
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STRUCTURE AND PATTERN OF QUESTION PAPER FOR CWSN
CLASS 8 (ENGLISH)
TIME: 3 Hrs
THEORY: 80 Marks (including 3marks for good handwriting)
CCE: 10 Marks (These marks will be based on ‘Parho Punjab, Parhao Punjab-English’ Activities.)

PRACTICAL: 10 Marks (Listening Test =6 Marks, Speaking Test =4 Marks)
TOTAL MARKS: 100

Marks
S.No. CONTENTS distribution
77marks
Section A ( Reading comprehension ) 12marks
i Comprehension passage 6x 2=12 Marks
Section B (Literature and Vocabulary) objective type 28 marks
: . 2=6
Short Answer Type Questions (Any three out of five) o
X1=
Give Meanings of Words in Hindi/Punjabi(Any four out of seven) ani=4
X1=
Fill in the blanks from back exercises of lessons of text book w4
X1=
n Make Sentences (match the correct sentence) P
1=
Match the column (pictures to words) Sl
Questions based on stanza of poems (complete from options | 3*1=3
given or matching the right picture)
Long Answer Type Questions (Any one out of two) 1x3=3
Section C (Grammar and Composition) 37marks
(only in form of matching activity)
a. Grammar(only in form of matching activity) 8qX1=8
b. Opposites(match the columns) 6qx1=6
c. Professions (match the columns) 4qx1=4
s d. Circle the odd one 4qx1=4
e. Spell the following 4qx1=4
f. Paragraph 1(x5=5
g. g.Translation (Any three out of six) 3 qx1=3
1=
h. Re-Translation (Any three out of six) 3 4x1=3
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l 1. Abdul Hamid l

CQMH
ABDUL HAMID
1 JULY 1933 -10 SEPTEMBER 1965
4 GRENADIERS

PARAM VIR CHAKRA (P)
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INDO-PAK WAR1965  BATTLE OF ASAL UTTAR

CQMH ABDUL HAMID DESTROYED 7 PAKISTANI PATTON TANKS WITH

A RESOILESS GUN BEFORE LAYING DOWN HISL IFE FOR THE NATION
#IndianBraves #LestWeForgeting

| TRUE STORY OF A BRAVE INDIAN SOLDIER ]

|. Answer each question briefly: Tick (v') the correct option.
1. Who was Abdul Hamid?

a. Company Quarter Master. (COMH) v

b. Company Katter Master. (CKM)

2. Which sector was he fighting in?
a. Chandigarh sector 32.
b. Khemkaran sector.

3. What sort of tanks did Pakistan have?
a. Patton tanks.
b. Water tank.

4. What made the Indian soldiers happy?
a. Abdul Hamid shot a Pakistani Tank and it caught fire.
b. Abdul Hamid shot a Indian Tank and it caught fire.

l Answers:- 1-a, 2-b, 3-a ,4-a l
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Fy 1. Tick (v/ 0T X) true or false: 'y
b . e
2 1. Hamid was a crack shot. v &
2. Once at night, he shot atiger. [ answers- 1o 2 -3-X a4 } %

3. He was a brave soldier. e

4. Abdul Hamid was awarded the Param Vir Chakra .

i

I11. Tick (v") the correct option to complete each sentence: &

bYd

by

%
K

£
b

1. Hamid, waited to hit the tanks with his gun because
1. he did not want to waste his shots.
2. The enemy soldiers were coming nearer.
2. Hamid was their biggest enemy because
1. his soldiers loved him.
2. he was destroying their tanks.
3. Hamid could shoot abird at night guided by its sound
because
1. he did not like birds
2. he was a crack shot.
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1. to reach Cheema.
2. to fight on.
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[ Answers:- 1-1,2-2,3-2,4-2 ]
IV. Choose numbers from the box to complete each sentence:

* Abdul Hamid while he was destroying the enemy tanks.
e Param Vir Chakra for his bravery.

1. Abdul Hamid was awarded
2. One shell of the enemy hit
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Answers:- 1-c, 2-a,3-d ,4-e,5-b
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|. Read the following sentences and change them
Into the corresponding past form: As explained in
the chart: -is shown above.

1. Soldiers are fighting at the border.
Ans. Soldiers[ ] fighting at the border.

2. War has been going on since long.
Ans. War C] been going on since long.
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3. Abdul Hamid fires at the Pakistani tanks.

Ans. Abdul Hamid :] at the Pakistani
tanks.

BRIGLTRIOT0T0 0
T e b B e b e e b e e e b e e e B e e e e e e e e b e e e e b e e e e e e e b e b e e e

o2 12
D 0 o e D e e D T T D D T e D T T D T T T T T T T e T T T T D T e T T e T T D e T D T
D S e S S S e S S e S S S S S O S S O S S R S S T S N N S O T T S R



oetetatazaiaatatatataaioatataolatat oottt ot altat oottt Bttt oot At et R R QR Ot At Ottt ot At et AR O et T R Ot

0
O
o
O
o
O
0
O
o
O
i
O
0
O
0
0
0
O
0
O
0
O
s
0

0
0
9
0
0
0
0
0
0
0
0
0
0
9
0
0
0
Rt

%

%

%

%

%

%

%

eekoooeateatatatoatotolatatatototolatatatotoaatatotol oottt ool et ool et at et oo et et ket ot ket kR e b ek e R o et e b ek ot oR et e et e R 0ROt et

WHEN IS THE PARTY?

(&
] ,

AV

GO TAKE A BATH.

LETS UNDERSTAND THEM )

i
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- | MATCH THE COLUMN A WITH B

e column A

- SENTENCE

Py 1. I LIKE NUTS.

% | 2. WHEN IS THE PARTY?

Z | 3. WOWI!ILIKETO

= | 4. GO TAKE A BATH.
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IT'S TYPE

a. COMMAND

b.EXCLAMATORY

C.STATEMENT

d.QUESTION
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[ MATCH THE FOLLOWING PICTURES WITH THEIR CORRECT MEANING

|

()| OAK TREE

o DRY AND BALD

Answers:-1-c, 2-a, 3-b,
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a:’:‘ . L] L s.;:“f
N8 e
I Find in the poem all the rhyming
pairs of words, as — free and pbe.
ova s
Ans. (a) years= sere
e b d — y &
16 eley= tiv)
(¢) night- l1ght &
s&'v.g A;‘
(d) see= be &
iy iy
=/ 1m.  Write true (T) or false (F) against each statement: &
% 1. To be perfect, one must have a long life. [ ] o
N8 e
= 2. An oak tree lives for three hundred years. 3
iy 3. Mere long life does not make a man great. s
EYd o o 5 EYd
% 4. Real beauty can’t be seen in small sized objects. [ ] %
EYd EYd
z 5. It is the quality of life that matters, not the length of life. [ ] =
& 17 K
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2. Say ‘No
& Py
i Py
i i
%v@ NE
?;;:Z Textual Comprehension F
Zf;ZZ |.To answer each question put atick mark /" the correct option: %
% 1.Whowastheking' s favourite? 2
ZZ a Gopal, awitty barber. v %
i b. Courtiers %
& a2
y 2. What did the courtiers ask the king to do? Y
& a. They asked the King to say "No" Gopal. iy
g b. They Asked the King to say ‘good’ to Gopal. 2
& 3. What made the courtiers sad? &
& a. The king refused to give them five hundred gold coins. &
2 b. The king refused to give them one hundred gold coins '
= wa
% 11. Tick (v') the correct answers from aor b option to fill in %
V& H&
5 the blanks: i
& 1. Gopal, the barber, was very : #
= (@) kind (b) witty =
2 2. The courtierstried their best to make Gopal 1ook afool because &
z (a) they were jealous of Gopal. (b) they wanted to save the king =
j; 3. Gopal was surprised because :::::
= wa
i (a) the king was saying ‘NO’ to whatever he said. i
::j:: (b) he was very clever. :3;

by 4. The ministers believed that Gopal got away with so many things

3;"03 s;v‘“g
& a. he was very clever. %
= b. the king was saying ‘Yes’ to whatever he said. =
b o Y,
# Answers: i)
wa na
& l.  1-3,2-3,3-a i
Na 58
i Il. 1-b,2-3,3-3,4-b %
xd &
i 19 S
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almost the same:

Match the words in column ‘A’ with words in column ‘B’ that mean
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1.sa

a.fully
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ks

S
R

2. witty

S350

2

b.trust

BRI

5
xR

3. giggle

SHIRTHIRTOIRITS

C.prize

)

S

4, reward/

P L)

d.laugh

5. believe

e.darling

6. favourite

f.quickly

7. completely

g.unhappy

8. immediately

h.intelligent

T L e Y

S
X

45

Ans:- 1-g, 2-h, 3-d ,4-c, 5-b,6-e,7-3,8-f.
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% 3. How Daddy Decided What He Wanted to Be %
= =
= =
= =
Py =
Py wa
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by XS
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HOW DADDY DECIDED WHAT
IAM A POLICEMAN.
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%' %'v’&'
s DY
F Textual Comprehension z
= |. To answer each question put a tick mark on the #
% - &
P correct option: &
F =
Yy b
e 1. Why did Daddy want to be a night watchman? %
& LY
= Ans (a) To make a noise when everyone is sleeping. \_/ =
?%:: (b) To make a noise when everyone is together. :”%ﬁ
b b
= 2. Why did he want to be an ice-cream man? =
= &
= Ans. =
by e
= a. To have a cart and eat all the ice-cream he wanted to eat. =
'y b. To have a fruit basket and eat all the fruit he wanted to eat. =
= 3. What was it that he saw in an auto workshop? =
& A %
& ns. : . : &
% a. He saw a man wearing blue uniform in an auto workshop. He was %
= playing with all sorts of real cars not toy cars. =
% b. He saw a man wearing red uniform in an auto workshop. He was 7%
N8 . - e
% playing with all sorts of balls. %
5& W&
by b4
% 4. Why did Daddy want to scratch behind his ear with his foot? %
& by
gz A
= a. Because he wanted to be a cat. =
s b. Because he wanted to be a dog %
& e
% 5. What does Daddy think now to be the most important thing? %
= Ans. =
= a. The most important thing is to be a bad man. =
j;g b. The most important thing is to be a good man. :;:z
s W&
& b
% Ans:- 1-a, 2-a, 3-a,4-b, 5-b %
& b
5 23 e
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Y, e
?2;"‘@ - 32;:“?
i Vocabulary Enrichment =
o¥a oa
B . C 4 . . . . s
A 1. Match the words in column ‘A’ with their meanings in &
% column ‘B’. z
oy =
- =
2 A B g
= pilot one who keeps a watch
& &
Z  actor one who flies an aircraft Y
= clerk one who repairs machines =
o H o~
= sallor one who looks after sheep &
e )
o¥a o¥a
3 X
stranger one whom you do not know %
Z  shepherd one who keeps records in an office 2
by L.
o¥a o¥a
Y - . . Y
& mechanic one who acts in a film or on the stage =
i watchman  one who is a member of the crew on a ship
b &
o o
g s
o o
g s
o o
R s
o o
LYY b
o~ )
N& W&
o~ )
g s
o o
b b
o~ )
g s
o o
b b
o~ )
g s
o~ o
b bYd
o~ )
ag s
o~ o
g s
o~ o
g s
= o
. 25 %
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EYd W&
o¥a o¥a
EYd W&
o¥a o¥a
EYd W&
o¥a o¥a
LY oR
= )
iy 2. Abou Ben Adhem o
R 58
oVa o¥a
EYd W&
o¥a o¥a
Y, W&
oVa o¥a
5& R&
oVa oVa
w& w&
o¥a o¥a
N& R&
oVa oFa
w& w&
oVa o¥a
N& R&
oVa o¥a
P, X
o¥a o¥a
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b by
oVa o¥a
b b
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b b
o¥a o¥a
P X
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o¥a oFa
by by
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b b
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b b
o¥a o¥a
P X
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b by
o¥a o¥a
Y b
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o¥a oV
b by
o¥a o¥a
b by
o¥a oY
P X
o¥a o¥a
b b
oVa o¥a
b by
o¥a o¥a
b b
o¥a ]
b by
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EY EYd
o¥a o¥a
e b
oNa )
b EYd
o¥a o¥a
P : . by
= Comprehension and Appreciation of the Poem z
g I. Tick (v") the correct answer(s): W
2 by
bYd EYd
o¥a o¥a
2% - - g
by This poem conveys the idea that. ) by
EYd W&
o¥a oVa
b NE
= 1. God helps those who help themselves. =
o¥a oVa
% 2. Love of man is the love of God. %
by by
e =
= 3. God blesses those who love fellow human beings. () =
o¥a o¥a
% 4. God appearsin our dreams. z
e wa
o¥a o¥a
% 5. With God all things are possible. ) %
Y W&
oVa o¥a
by by
o¥a o¥a
b b,
oVa o¥a
2% Ans. statement 2&3 v arccorrect. "8
e wa
o¥a o¥a
b by
[ o3
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ae =
ue =
# To answer each question put a tick mark on correct option: #
EYd R
% 1. What had made Abou bold? S
= a. The peaceful atmosphere of the garden made Abou bold. =
= b. The peaceful atmosphere of the room made Abou bold. Fy
% 2. What did Abou ask the angel ? iy
% a. He asked the angel what he was writing. S
= b. He asked the angel what he was singing. =
i i
= 3. What was the angel’s reply? '
i a. He was writing the names of those persons who loved God. i
% b. He was writing the names of those persons who hated God. S
= Vocabulary Enrichment =
= |. Use each pair of words in sentences of your own so asto bring out =
;@5 the difference in their meanings: sg«:
:%: How to easily remember: ifi
% PIECE or PEACE iy
ﬁv@ 3;‘“@
7 %
7 %
e | %
i ' — %
i W&
% angel: Abou saw an angel in his dream. %
58 Py
58 Py
% peace. z
= | Wewant to livein peace. &
5 ) Py
P plece. i
Py ) _ ] =
b &
= U Give me a piece of pizza. ) angle: Draw Z
5 an angle of %
NG L.
s Ans:-1-b, 2-a,3-a, 90 %
b bl
b Y
o 27 &
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= if; 7 ‘ ; ’
i 1. Instead of saying ‘/ight of the moon’, we can say ‘moonlight ::;
% which is a compound word. Give one compound word: %
N8 s;"@
B / m
A"‘.
b %ﬁ
oVa o¥a
Y nE
o [
o 1. the time of night— night-time =
e o
o [
bl b
L) %
Yy LY
o [
58 k =
bYd
SA:?

2. work for home — home-work

FERTOTRIOTDIOTDIOTOTOTOT00

X,
&
&
&
nE
% 3. cloth for a table- table-cloth %
e b
s;"ﬁ , .- SA;"‘;’&’
i 4. leader of the class — class-leader i QLQ?&%E?E“S )
s;v'vg s smooth s;,;@
%
n& "
v
- 5. brush for the teeth —  tooth-brush

~

6. the pot for flowers —  flower-pot
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& hree Questio :
% 4. Three Qu .
= :
b :
BY SUNITSINGH
% THREE QUESTIONS - ) :
% v . . = o
g There is only time that is |5 z
b . . : :
- What is the right = 0 :
2 (s important
3:)"% t[ to al > mp 8 s‘“"%:
= me O, . i
% N— . . ' z =
z thing? and that timeis ' Now Z Z
% begin something: : .
: 2 5
e : =
2 2 b
z : :
= : -
: o)
= 2
& -
. iy
:%: S0N with i
e The who Is wit B -
2 2 == What is most important &
2 you at a partlcular . =
& thing for me to do %
= time should be -
= listened to. :
& g
: A
& -
= 2
& =
. iy
: =
: o)
:%: You should do well 2 !;":
: o
& to the person you are with. %
& g
= -
= -
: W
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= Textual Comprehension i
i I.  Answer each question very briefly: %
:}Z: 1. What were the king’s three questions? :fji
= Ans. Three questions were- =
= (1) What is the right time for an action? =
& (ii) Who/Which are people should be listening to? '
i D) What are the most important things to do? i
B 58
= Il.  Choose the correct word given in the box to complete the =
= following answers. =
& 1. Why did the king decide to go to the hermit? &
% Ans. Because he was not satisfied with any of the %
Y n&
i [ a.answers } [ b.question } =
2. Where did the hermit live? =

Ans. The hermit lived in the . i

X

a.hut b.woods i

3. What kind of clothes did the king wear? =

Ans. The king wore very simple : i

ﬁf

LY,

[ a.clothes ] [ b.cap ] i

4. Why did the king not go to the hermit with his bodyguard?
Ans So that the hermit should not suspect that he was a

=

SHIATRIAD

%
K]

e
e

Ans:-1-a, 2-b,3-3,4-a.
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:::: Composition Writing ::::
% I.  Reproduce in the form of a dialogue and in your own words %
b . . d =
% the king’s questions and the answers were given by the %
= hermit: =
o Ans. r
oVa oFa
b ne
= HINT: COPY THE TEXT OF COMICS AND FILLIN 2
o¥a o¥a
b ne
% THE GAPS TO REPRODUCE THE DIALOGUES. %
b by
by e
o¥a s
i iy
b by
o L)
a8 Py
by by
o -
a8 Py
b b
o L)
= King: What is the right =
o =
iy Hermit: There is the only time that is important and that time is =
% ‘Now”’. %
& 'y
= King: Which people should be listened to? =
A'vae o¥a
L by
) o%
2 Hermit: The person %
XY LY
% King: What is most -------------------------- ? %
b by
o e
o~ - )
Fy Hermit: You should do well : =
A )
= /f . I (i) i) What are the most \ =
. - A-"A
& S things to '
. )
iy do? g
o~ )
o~ )
Py 5%
gé.g \kcomplete my words J / :‘:‘:;‘q:
o¥a o¥a
b by
o~ o
iy S
= 31 =
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= 5. Our National Symbols #
bY; &
= Textual Comprehension =
= |. Answer the following questions in your own words: =
& . . %"E’&’
i 1. Name the various National Symbols of our country. %
by bYd
iy > The National Symbol of our country are — Fy
iy » The Nationa Flag, the National Emblem, =
2 > The National Anthem, the National Song, '
& > The National Animal, iy
= » The national Bird and the &
S > National Flower. )
- . : : w
;g@ 2. What are the different coloursin our national flag? i
% Ans. The different coloursin our national flag are:- %
by e
' Saffron Z
White
& And green 5
7 %
N8 e
= 3. What should we do when our National Anthem is being sung? =
% Ans. We should stand in attention position. s
s ' b
% 4. What is the importance of our national symbolsin our life? %
% Ans. They encourage and inspire us to be united. %
N b
= 5. Where do we have the Ashoka Pillar? =
& Ans. Ashoka Pillar is at Sarnath. &
X W&
NG N
X, £
o =
X, %"'v’é’
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=

e 'y
i I11. Tick (v") the correct choice to complete each sentence: iy
% 1. The Ashoka Chakra has i
Y . : X,
a. thirty-six spokes. %
b. twenty-four spokes. F

%
K

£
Ee

c. forty-eight spokes.

2. Rabindranath Tagore was awarded the Nobel Prize
a.in 1913.

b. in 1931.
c. in 1950.
3. Our National Anthem s
a. Vande Mataram.
b. Jana Gana Mana.
c. Satyameva Jayate.
4. The peacock has been our national bird
a. since 1947.
b. since 1950.

c. since 1963. Ans:-1-b, 2-a ,3-b,4-c I

\ Colour it

SRR NTGT RIS BININTNTHITBI RIS

%
K

0
=

B30

0
=

e

%
K

0
N

B30

0
&=

o¥a o¥a oVa oVa oVa oVa oVa oVa oVa oVa oNa oNa oVa oVa oVa P oVa o¥a o¥a

oTa Tn Ve Tn Ve Tn Vs Tn Ve Tn Ve Tn Ve Tn Ve Tn Ve Tn Ve T Ve T STe T s s T Ve T s T AT oTp T Np s T e T s Yo T e T OTp Ts T e T Oy T Ty WTa T2
T T T T A e T S T R T I T S RO T I O R T N T O T T

ZOIOTOIOIOIOLOIOLOIOIDIOLOIO IO IO L0 IO L0 TO 0TI TA L0 IO L0 IO L0000 L0 TA L0 TR L0 A0 TR0 TR L0 TR L0 TR0 TR0 TR0 TR0 TR0 TR0 R 0 0 050

B T



g
B
B
B
B
B
g
g
g
g
g
g
g
g
g
g
g
g
g
g
g
g
3
g
J
3

oVa o¥a oV oV o¥a oS
~

STs Os B0 oV s B0 Ve oTa Ts B oV p Bo oV oTe ATs Be Ve Tn Ta oo S
?z;v‘%’ WRNRWISNR VRS NRNR WS WE DR WS NS WS NS NS WS S NS WS NS W6 S RS

34
=
xN
=
)
2
=
2
b))
"
1)
=%
S
o
1)
b2}
3
o
1)
b2}
S
o
1)
b2}
)
<)
)
b2}
)
b2
)
b2}
)
)
2N
b2}
N
)
2N
=
N
4
2N
=
N
4
2N
=
N
4
2N
=
N
)
2N
={;

e g
XL . . . N
= Color the following pictures and match them with the correct =
% -~
Nati bol
ationz symbols
& x
) )
% 4 N\ £
by Y
% 4 ) Flower - #
3;)";.3 g 3‘;';"6'
L) ¢ 7o )
'y N < SO Py
;;;v' ﬁ oy 74
o G d o
= i
a,‘v’vg 30";3
) )
= i
%Tv@ 30"'0'6'
= e
o . A
AN - Fruit iy
= ik
2;"& 3”‘70@
) <)
EY Y
) )
by b

4 ) b
% Bird =
b bry

o )
he e
ﬁv@ s“‘v'“g
= )
& e
ﬁvg s’,‘v'“g
) )
& e
e Animal ws

o¥a

N8 b
o o
Y b
2 =
iy iy
E: =
iy iy
e e
W oa
A Emblem \\ %
i iy
iy iy
= &
F oy
n& RE
o o
F oy
s oy
58 Py
) )
= Flag =
o2 )
iy \_ - iy
= Py
s oy
= Py
s oy
= Py
F oy
F oy
iy =
s oy
LY &
o~ o
s oy
s oy
N bl
= o
s oy
LY bl
o~ o
b b



oV o¥a oVa o¥a oVa Vs oVa o¥a Vs oVa oVa oVa oVa oVa sVa oVa oVa sVa oVa oVa oVa oVa o¥a sVa oVa oVa oVa oVa oVa oVa oVa oVa oVa oVa o¥a o¥a osVa oVa oVa oVa oVa oVa oVa o¥a oVa oVa oVa oVa oVa oVa oVa oVa oVa o¥a

%7'«3%%53633363%%%%3323%723%723%%’6%’6&7’«3%?'u@%?'v%%?'v@%?'v@%7'&%?'«3%7«3%?'u@%?'u@%?'u@%Tu%SFZ%ﬁ@%ﬁ@%ﬁ@%ﬁmSm?;'u@335325?5335323?5%’v@23?5%’m}'@%’m}'@%’&ﬁ@ﬁ'&ﬁ@ﬁ'&%‘&m‘@
3-) %v@
) (ii1) This Is My Prayer To Thee z
by NE
= Comprehension and Appreciation of the Poem =
= Fill in the blanks using words given in the bracket to complete the =
i Answer of each question: i
% %
% 1. Who does the poet pray to in this poem? %
% Ans. He calls . (‘My Lord’,My dad ) %
Py &
% %
= 2. What penury does the poet talks of? i
% Ans. The poet talks of the In his heart. (penury, salary) %
. 3”‘7
= 3. How does the poet want to bear his joys and sorrows? 2
= Ans. The poet wants to bear his joys and sorrows =
o (lightly, brightly) iy
% %
i 4. How does the poet think hislove can be fruitful ? 7
2 Ans. If he works for the of mankind. (good, bad) =
e =
Fy 5. Who does the poet want never to disown? z
% Ans. The poets want never to disown the people. (rich, poor) %
b - by
% %
b b
s‘;? L] s‘;z'.
= Ans:-1-My lord, 2-penury,3-lightly,4-good,
& e
= 5-poor.
i '
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THEY ARE ALL
ALIVE! BUT HOW
WAS HIS SWORD
DRIPPING WITH /HE WAS

AETER THE FIFTH MAN HAL
LASRIPEARED INTO THE TENT
AVD G COBINVEG HRL KE -
RPPEARED WHTH HIS SWORD
BLOO0 - STAINVED, HE AGAWV
ENTERED THE TENT AND
THEN BE-ENMERCED.

THESE ARE MY BELOVED
FIVE -MY PANJ PAYARE,
THEIR FAITH HAS LAID
THE FOUNDATION OF
A NEW COMMU-
NITY - THE
4 KHALSA OR
@/ THE PUKE.
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THEN EURY SOBIND ASKED FOR AV
ROV VESSEL WHICH HE HELLED
WTH WATER. TO THIS HME ALOEL
SUCAR NHICH HE STIERED itV WiTH
A COUBLE

THE FIVE DISCIPLES HENCEFORTH YOU SHALL
WERE GIVEN THIS ALL BE KNOWN AS SINGHS
AMRIT. B AND VOU WILL GROW....
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' Hi f Sri Guru Granth Sahib J &
Z istory of Sri Guru Granth Sahib Jee... &
N& &
o o
i Y
n& Sri Guru Granth Sahib Jee was first n&
:.vai; compiled by Sri Guru Arjan Dev ::f'.::
= Sahib Jee at Amritsar between o=
Va oVa
i 1600-1604, Guru Jee narrated the &
:’.;v,g Gurbani and Bhai Gurdas Sahib Jee s.;'_::
e was the scribe. Guru Sahib had =
) . )
= collected the works of the previous i
oy Gurus and then added works from Y
= other saints and their own =
) : )
oy utterances of Gurbani. i
T T
= Gurbani is direct from the Gurus =
% not written by others or written in %
oy hindsight. i
e e
o o
T T
o s
e GURBANI: sacred language based on the power of the sound current. g
2{{".3 Gur meaning guide or enlightener. Bani meaning word. s.”_',“.s
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o% oV ¥s o¥s oV Vs s¥s oV aVs Vs o¥e oV sVs s¥s oV oVs Ss s¥e oV sVs Vs o¥e oVs SVs s¥a oV o¥s sVs Ss s¥s s¥e o¥e oV oVs AVs SVs sVs s¥a o¥e o¥ o¥s sVs SVu sVs sVa o¥e oV oVs AVs SVs Vs s¥a o¥e o%s
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o~ L)
by e
o~ [
by e
o~ )
by brg
o~ )
by e
& Textual Comprehension %
wa RE

‘] - . . . ‘!.
i I. Match the column:’ 4 with their correct answer in column B iy
o~ )
XY XY
o [
WS b
2 - - - 5%
) va
= | Bhangra Punjabis never stretch their %
Yy LY
2 L hands before anybody to beg. %
so‘v'vg 3»"103
o L)
b b
o~ )
z( s
% self-respecting people Punjabi folkdance is full of energy S
Py wa
o~ )
AN =
bYd Al
o~ )
Yy LY
o [
% [ Knalsa Panth’ - g
iy alsa Panth” was It is known for rose gardens. =
% founded by )
o o
by Al
o~ )
Y LY
o¥a o¥a

= _ Shri Guru Gobind Singh Ji in =
= Chandigarh April 1699 at Anandpur Sahib. i

b b
o o
= =
3;';3 3»‘"05
o o
F S
3;';3 s;v‘ug
o o
= | Golden Temple =
Vs 1 1 i i "“
by Sri Guru Arjun Dev Ji, the fifth A%
X, . . . W
) Guru of the Sikhs. compiled it. &
2;';3 3’}‘0@
= o
F n
ﬁvs su‘v‘“g
o¥a - o¥a
b : b
Py e
o o
F n
ﬁvs s”‘v'“g
= A
= NSWErs =
= o
s iy
Py by
g;:-& Bhangra Punjabi folkdance is full of energy s:;:;g
3;"03 s;v‘og
o= o
:%":: self-respecting people Punjabis never stretch their hands before anybody to beg. 2’%:
= o
= Khalsa Panth> was founded by Shri Guru Gobind Singh Ji in April 1699 at Anandpur Sahib. =
o= Chandigarh It isknown for rose gardens. =
s:;:;:z Gold en Temple Amritsar ;:;:;:g
n& h Sahib . . . . ' — e
3 Guru Granth Sahi Sri Guru Arjun Dev Ji, thefifth Guru of the Sikhs, compiled it. e
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o% oV ¥s o¥s oV Vs s¥s oV aVs Vs o¥e oV sVs s¥s oV oVs Ss s¥e oV sVs Vs o¥e oVs SVs s¥a oV o¥s sVs Ss s¥s s¥e o¥e oV oVs AVs SVs sVs s¥a o¥e o¥ o¥s sVs SVu sVs sVa o¥e oV oVs AVs SVs Vs s¥a o¥e o%s
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BY; W&
o~ L)
EX LY
o~ [
g b
o~ )
g b
o¥a - o¥a
i I1. Put a tick (v') or cross ( X) for each statement: %
g b
by . . - NE
% 1. General Dyer lived in Jallianwala Bagh %
b X =
iy 2. Le Corbusier was a great Indian architect. iy
5 3. Bhagat Singh was hanged on 13 April 1919. &
by bYd
o -
P i
% 4. The Golden Temple has a tank all around it. %
o )
= 5. India became an Independent country in 1947. v/ s
o =
) . - . %
iy I11. Tick (v) the correct choice to complete each sentence: =
l‘?" ]

Q)
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=

% 1. The incident of Jallianwala Bagh happened in %
nE e
% a.1919. v 3
nE Y,
& b. 1928. 2
= c. 1947. %
= 2. The reorganisation of Punjab took place in z
& a. 1947. g
i) b. 1950. i
c. 1966.
% 5
= 3. Kulu and Manali are parts of iy
& a. Haryana. &
% b. Himachal Pradesh. i3
% c. Jammu and Kashmir. Yy
= 4. Sri Guru Arjun Dev was of the Sikhs. z
& a. the fifth Guru Z
% b. the sixth Guru i
% c. the fourth Guru 2
P Y
= 41 5
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X, oR
8. Childhood
by NE
%  Textual Comprehension %
2 I. Tick (v) the correct option to complete each 2
= sentence: 5
by bYd
s»i a. Gandhiji would run back home after school ?»««
because......
iy =
Z 1. he was very shy by nature. v/ g
oy 2. he was a mediocre student. Z
P 3. he had to finish his homework. &
b. Gandhiji could never imagine that......
by - 3»1'«.’6’
iy 1. the teacher was there to supervise. iy
& 2. the teacher would not help him in copying. Py
% 3. the teacher wanted him to copy the spelling. S
N b
% %
iy c. Gandhiji thought that the teacher had acted wrongly iy
% because...... Py
2 1. to err is human. z
% 2. the teacher was not wise. s
y . -
& 3. the teacher was not highly placed. iy
% d. Gandhiji always took care to do his daily lessons %
& b
& because..... &
iy 1. he disliked reading. &
) 2. he disliked his teacher. E:
2 3. he disliked being taken to task. &
si'-:: 42 zgf
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b %«@
% I1. Answer the following questions: %
% 1. Why did Gandhiji’s father leave Porbandar for Rajkot? #
S Ans. Gandhiji’sfather wanted to become a )
%Tv.g )
% member of the Royal Court. %
5% 2. How old was Gandhiji when he was sent to a high school? %
% Ans. Gandhi J was twelve years old. %
wa n&
NE

3. Why did Gandhi ji make his books and lessons his sole z
companions? i

Ans. Gandhi Ji was very shy by nature and avoided all the company. 7

N&

‘%,9(!‘%,?!:‘%,?@%,?l:‘%,?@%,?l:‘%?%l?%?%t?éﬁt?%@%?%@%?%@%’;@%‘t!‘%’;,@%bé’g?%bé’#?%&%?%&%ﬁ%&%ﬁ%&%ﬁ%‘t!‘%’;@%{@%’;@%{@%’;@%{@%’;@%;’@%’;@%3%?%3%5%3%5%3%5%5%5%5%&%I‘%’;@%{tl‘s’

4. How did the story of Harishchandra inspire Gandhi ji?
Ans. It inspired Gandhi Ji to follow the path of truth.

I1. Complete the following sentences by choosing the correct word
given in the bracket:

1. We should always speak the (truth, lie)
2. We should not others. (abuse, praise)
3. We should wake up . (early, late)

4. We should not cheat . (everybody, anybody)

5. We should respect our .(‘elders, children)
6. We should not cheat . (anyone, everyone)
Ans:-1truth,2-abuse,3-early,4-anybody,5-elders,6-anyone J
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# 9. Two Memorable Speeches #
b NE
iy Textual Comprehension iy
% I. Who said these words and on what occasion? i
Y nE
% 1. The future beckons us. i,
b %‘j}
Fy Occasion z
i /Pandlt Jawaharlal Lal h %
b - by
7| Nehru said these words on | %
=| 15™ August 1947 when #
=| India got Independence )
i X
b X
% 3. We are citizens of a great country i
b NE
3 X
X X
b by
% 2. Brothers and sisters of %

America. 7

BIeTOT0
TR

“!.
A s
Py A . by
= Swami Vivekananda said Py
= : =
iy these words on the occasion =
~ 1 =
P of the world Parliament of i
Y Y
Py Religious at Chicago (USA). Py
by =
= by
= iy
iy 2
= by
Y - Y
) Occasion %
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Vocabulary Enrichment
1. Match the words in column ‘A’ with their opposites in column ‘B’:

1. Up

FRININTNTGIRININNTHI BTN

BRTNIRIBTNINIGINININIBTINe

by 2. Front

LY

& 3.Go

LY

= 4. Fast

e

= 5. Yes

b &

o o

= oy

b &

o o

= oy

b &

o o
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Spelling by Picture — Food Part 1

I Directions: Spell the following words correctly using the pictures on the right.

|
I
; |
3 ‘ ( _
|
= ) “ &) in e ® —
|
I
|
| @l
| | | %] [
ol oy | | | | | I
| Y R I | | | I

)

Ans:-1CHICKEN,2-BREAD,3-PEPPERS,4-ORANGE,5-GRAPES,6BEANS,7-FISH,8-APPLE
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Circle the picture that is different in each row.
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3-) %v@
ae =
ue =
i Grammar in Use a
iy - - : Py
i * Rewrite the following passage in the Present form: %
= Once the poet was in great trouble. A rich man helped him with %
= money. The poet later paid the man back his money. Another time, =
= the poet was again in trouble. A poor man helped him. He showed =
= sympathy towards the poet. The poet did not know how he could =
i repay the man for his kindness. i
& ADS. &
iy =
% Once the poet is in great trouble. A rich man helps h|rr_1 with money. S
= The poet later pays the man back his money. Another time, the poet is i
% again in trouble. A poor man helps him. He shows sympathy towards %
o the poet. The poet does not know how he can repay the man for his %
b b

= Kindness =
s:,""vg ﬁ help of hints given 3}':'«:@
we in the box. = e
& / HINTS iy

o¥a o¥a
& , . Was—is &
LY b
o%a ~ o
z > Helped— helps s
= : o
g S © Paid—pays g
s = Showed—»shows

J ¢ ) e Av‘
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S OO
o%a )
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e Y
o2 )
BT s

by b
o ]
Y LY
s o

by Y
o ]
by LY
s o
by Y
o -]
s b

N b
o%a )
g s
o¥a o¥a
%v. 49 N4

AAAAAAAAAAAAAAAAAAAAAA oVa oVWa o¥a oVa oVa oVa o¥a oV oVa o¥a oVa oVa oVa oVa o¥a oVa o¥a oVa oVa o¥a oVa oVa oVa oVa oVa oVa oVa o¥a oVa o¥a oVa oVa

e S S e



BHTIARARRRRRRRARRDBBAAARAARRRRARARARARARAAARARRRRRRRNG
by by
F 10. Saint Ravidas =
= Textual Comprehension =
& Answer the following questions: &
oy 1. When do saints and sages appear on the earth? %
Y . - - Ve
% Ans. Whenever the moral or social life of people shows signs of %
iy 2. How did Ravidas influence the Hindu society? =
& Ans. By infusing new life and vitality into it. =
= 3. What desire of his parents remained unfulfilled? =
% Ans To send him to school and give him a good education. 7
b b
= 4. What did Ravidas's teacher notice about him? =
& Ans. Ravidas was not an ordinary child. %
@5 He was destined for some higher purpose of life. =
= 5. What place did Saint Ravidas choose for his meditation? =
Fy Ans. Saint Ravidas chose an area of forest to meditate in peace. Fy
% )
& Grammar in Use E
= I. Choose the right word to fill in the blanks: =
% 5
P * between — used for two people. =
= « among — used for more than two. Y
Fy 1. The property was divided between the two brothers. =
by . e
% 2. The four girls shared the chocolates among themselves. %
Y o5&
= 3. This is a secret between you and me. =
LI EXd
e 50 p
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iz by
b by
o¥a o¥a
EXY, &
o¥a o¥a
EXY; &
o¥a oVa
EY; nNE
o¥a oa
i{- R Cle 10 s“.v:“f
% * it’s — the short form of ‘it is’. %
BY; &
o¥a o¥Va
b, &
= * its — shows possession. =
[ (]
Py 1. | believe it’s going to rain. Py
2. The elephant drinks with its trunk. &

&

o

b

3. My cat does not let anyone come near its kittens.

» farther — at or to a greater distance.

BIBIIRZOININIRTR IR T0N
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b

= « further — more, in addition. =
= 1. | can swim farther than you. Py
% 2. Have you any further information? %
b .
= 3. | could not run farther than that. =
% » this kind and that kind —go together because ‘kind’ is singular. 7
58 Py
= « these kind and those kinds — go together because ‘kinds’ is =
R i -
= singular. >
sﬁg 1. | eat only thiskind of chocolate. &
svv e
%‘Z 2. Those kinds of animals are found in Africa. =
iy 3. I collect only those kinds of stamps. iy
by by
% « amount — used for uncountables. %
by by
= « number — used for countables. =
P EXd
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by X

1. We bought a large amount of food. 5%
2. The number of accidents has increased. %

3. A large number of birds settled in the tree. 'y

030
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=

g

=
g

* beside — at the side of.

e
=

%
&

) )
oy oy
& * besides — in addition to. =
piy 1. She came and sat beside me. b
% 2.. Besides tea, we had some biscuits. 7
= 3. The bus stopped beside the post office. =
= 6. He That Is Down Needs Fear No Fall =
% =
% . - =
i Comprehension and Appreciation of the Poem 2
' Answer each question briefly: =
R 8
& 1. Who fears no fall? =
R b
) . )
% Ans. The one who is down fears no fall. 2
b : b
% 2. Who has no pride? 2
& Ans. A humble man has no pride. &
% =
= 3. Who has God for his guide? i
) 1 1 )
& Ans. A humble man has God as his guide. &
% =
% =
i 52 i
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= | Vocabulary Enrichment F
o¥a o¥a
R . . . . by
# | Match the words with their opposites: =
bl LY
) )
iy 1 h =
Py . muc iy
i %
iy . i
b b
z 2. worst little 2
i P
= s
b 1 LY
2 3. proud pride 2
] b
2 4. humility content &
s b
humbl 2
= 5. heretofore umble 2
P %
s;,;g -

= 6. discontent hereafter

s:;;;:g

u

R

u

b

) -

= /Ans. 1. much little \

i 2. worst best

b

% 3. proud humble

b . .

% 4.humility pride

= 5. emptiness fullness

o¥a

= 6. heretofore hereafter

% 7.discontent content
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hereafter

What is the opposite

of heretofore?

A3 amie

tes:

]

best

QIMatch the words with their oppos
1. much

little

2. worst
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# 1 Directions: Read the text three times and colour the stars and try to %
%z | answer the questions given below:- %
& LY
- 'l We like to bake. My baking studio ' &
Y 0 / oy
2‘3‘;35 y + sgq.s
- i| We will make a cak
% e Wil makKe a cake. &
o¥a oY
- !l Then we will make cookies. Last | !
3 Il mak kes
& we Will makKe cup, cakes. %
- -
b . . . NE
= 1 Put the events in the order: writel, 2, 3 in the box:- .
2.;:“.3 . . v::,jq‘s'
= =
o LA
= Y
= s
= u
= Y
= iy
= 2. Write three things we will make  3.what we will make first put a tick | =
e ’ S O O EEE O S § S O . w = L] = g‘
% \ N %
w& | I =
P 2. . . .
Y . Y
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